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MC ¥ RgER / BEESR

1)
2)
3)
4)

10.

11.

12.

13.

14.

Jfi. Control process 2=l 2HFE

Setting the standards. 5]17f2Z%E (Choice A)
Measurement/Measure the actual performance &5 EEEZFHIR (Choice B)
Make comparison/ compare the actual and standard EE#/EE#EEF P AT AE

Take corrective actions. &J1F{T#H) (Choice D)

DNEIARAKH EAZARES IREERY - B RFAVEE A DUETT B TR R TR -

BESEERTEAE - SRR -

(1) 1 (4) R&3#EEH Operation management FYE[E o

G ETEIAK! (FIRsE, EN—SAMNRERVEREZ ! FABE PR

[E b &3 ARRKESR 3 [E%EZ Financial Statements |, F%{f7 L AEH F—Lbil a8
B, PIsFENEES L, SERTIRL8? SHFERSERE? HENEREHFEgHE
%%

C 2E&E, [FMBIRZE Statement of financial position 3R ©

BEORBER AR S SEEE RS ERAGTREEEE - AEEG R EETEVE
1k ° The assets of a firm are valued at their original cost purchases or production. Any

changes in their market value should be ignored.

FAEL: Assets = Liabilities + Capital ~ &E=E{G+ELK

ARSI EEE, AR EEAN, AeREEHEERL, B0 DBRORFEERHFE
Assets T4 JERBIEEE Non current assets + JRB& 7 Current assets

Liabilities T]85EKIE#E & Non current liabilities +i#) & & Current liabilities

Capital AJ8#5% & Capital +73F1] Net profit --#£F Drawings

Net profit FI[JB W A[8#[E Revenue Uiz — Expense ¢l

PR PR T e A B ©

FH#EERE D i+

B4 Assets = Liabilities + Capital EE=E{F &4

(Non current assets + Current assets) = (Non current liabilities + Current liabilities) + Capital
FrlGEEZZE <0 AR !

Non-current assets + Current assets = Capital +Non-Current liabilities — Current liabilities

_o_
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

29.

30.

Net profit ratio = Net profit / Sales JFfZE=3F/ $§&

W PEEERE BT, AR ME AT REME:

Net profit F|- =¢ Sales & =\ Net profit FHiEE-2# Sales FHiE
FEEER: HRE must BE ZEEREENFIR, MR

Current Ratio JR#)EEZR[E] Quick Ratio ZRENEEZAYAHZE & Inventory 78, FTLA Quick Ratio
HEHE R —FEIEEAHS Current Ratio JREJHEX -

{EfLE Current Ratio R, FTPAREH]LIHEERLE S, (HAFEM% Cash % -

positive KFAZR1IT T AIBBEL 7B

Current assets /i #&Z& >= Current liabilities Ji H & &

& Bank $R{TTERX Balance RRZETH[ FR[&!

EORMGIEMERIS: SEEMRRE (BB R EAERE - RAISER B RN SA
GHANR -

Business entity concept

A business is treated as an entity separate from its owners. Only transactions affecting the
business should be recorded in the books of the business.

By definition. {E{EES -

SESE: HHUMFEAMRE - EADURBUEZ NERK > R |

Trial balance s\FHF H A3 — S/ AR VAT RESE SR - P DU T2 P 218 > AA R

SEE A -

B EIERESHEA! AT DU ENHET I S B3R A !

JFR: B ERRIAE - MR ERRI AR

By definition. fR{EEZ
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Section B 2,

1.  The company does not have expertise in providing social service.

NEERR A G IR T EI A B

Objection from shareholders, e.g. extra resources on social responsibility might lower their

returns on investment

NEIRHREE - ARG R B E R NE R G R EAL IR & [

The company has already paid tax on their profits which could be allocated by the government to

provide various social services

NEIEREFGE - BUNF FTHEZ Y AR SR S T G &R

2. Machine A: HEERATFIR(H:
NPV=§ -200,000-70,000/1.1+ (350,000+450,000)/1.1"3 = $337,415

Machine B: H%E2B FFH (H:
NPV=$§ -270,000+250,000/1.1+400,000/1.1"3 = $257,799

Mr Kam should buy machine A for its higher NPV.
HEEEA, NERFRERS -

a)  Company reputation will be adversely affected, which may lower long term profit.
NEPREGBEZE - REFERKD -
May be sued.
WekmfZ -

b)  Government, Supplier

BURF > BEIERS

© Copyright 2022  Logic Tutorial Centre [HIBHHEIN



b)

ai)
aii)
aiii)

aiv)

b)

When the going concern assumption is no longer appropriate, assets are recorded on the balance
sheet at their net realizable value, i.e. current market value, not their cost.

$44,000

B EHRA BN - 5 REE R E EEEIR T A R EESHE - BINE
$44,000, A BEHEA -

Risk reduction
Risk transfer
JeE g ek

JE\ b RS

Gross profit ratio 2 = 67500/337500 x 100% = 20%

Current ratio Jfi#jjEL3= 57000/30000 = 1.9:1

Quick ratio #BjELZE= (57000-28875)/30000 = 0.94:1

Return on capital employed 38 F & 4 #1fiij%= 45000/ [(225000 + 270000)/2] x 100% = 18.18%

Separate legal entity
lasting business continuity
AVAZYN
PSR U MR R

A high interest rate will increase the cost of borrowing of firms, the amount of investment

decreases and thus lower the share prices.

HIR_ETHRAEIIMSERIE R - S8R > e PR (E -
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Nick & 72

Income Statement for the year ended 31 March 2017 & & 2017 /£ 3 H 31 HiIFHEENERE

Sales $5§ &

Less:J&  Cost of goods sold:§# & Rl A&

Opening inventory Hi#J{F &

Add: Purchases &

Less:JR Return outwards [i# & B I}

Add: i Carriage inwards [if§ & % &

Less: Closing inventory HiAR{F &
Gross profit &I

Add:fil - Discount received fi# & 7 1

Less:Ji, ~ Expenses ZH]
Rent and rates FH < & 7= @
Carriage outwards $5 & & &

Net Profit ;55

b)  Net profit ratio J¥FI[# =24000/60000 x 100% = 40%
c¢)  Neglect of time value of money

Information is mostly quantitative

BRI E E

BERAZ R

$ $
60000
3000
25000
(1000)
4000
6000 (25000)
35000
2000
37000
8000
5000 13000
24000
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